

AG necessary: $\forall n \in \mathbb{N}, \forall a_1, \dots, a_n \geq 0: \sqrt[n]{a_1 \dots a_n} \leq \frac{1}{n}(a_1 + \dots + a_n)$

Induction: $n=1: a_1 = a_n \checkmark$

$n \rightarrow n+1$ Fix $a_1, \dots, a_n, a_{n+1} \geq 0$

Induction: limit $a_1, \dots, a_{n+1} > 0$

limit $a_1, \dots, a_{n+1} = 1 \rightarrow$ just pick $l_i = \frac{a_i}{\sqrt[n+1]{a_1 \dots a_{n+1}}}$

$$\sqrt[n+1]{l_1 \dots l_{n+1}} = 1 \leq \frac{1}{n+1}(l_1 + \dots + l_{n+1}) = \frac{1}{\sqrt[n+1]{a_1 \dots a_{n+1}}} \cdot \frac{1}{n+1}(a_1 + \dots + a_{n+1})$$

limit $a_{n+1} > 1, a_n < 1$

Induction: $1 \leq \frac{1}{n+1}(a_1 + \dots + a_{n+1})$

$$\frac{a_1}{\sqrt[n+1]{a_1 \dots a_{n+1}}} \cdot \frac{a_n}{\sqrt[n+1]{a_1 \dots a_{n+1}}} \dots \frac{a_{n+1}}{\sqrt[n+1]{a_1 \dots a_{n+1}}} = \frac{a_1 \dots a_{n+1}}{a_1 \dots a_{n+1}}$$

lim: $c_1 = a_1, c_2 = a_2 \dots$

$c_{n-1} = a_{n-1}, c_n = a_n a_{n+1}$

$c_1 \dots c_n = 1; \quad 1 \leq \frac{1}{n}(c_1 + \dots + c_n)$

$n \leq a_1 + a_2 + \dots + a_{n-1} + a_n a_{n+1}$

$n+1 \leq a_1 + a_2 + \dots + a_{n+1} + a_n a_{n+1} - a_n - a_{n+1} + 1$

$a_n(a_{n+1} - 1) - (a_{n+1} - 1)$

$= (a_n - 1)(a_{n+1} - 1) \leq 0$